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Question 1: The operation of matching reflects the fact that:
a. people at all levels of attractiveness find partners.
b. people look for the most attractive mate.
c. unattractive people do not have partners.
d. attractiveness equals health and fertility.
e The correct answer is a. The operation of matching reflects the fact that people at all

levels of attractiveness find partners.

Question 2: Which of the following is a shortcoming of the social exchange theory?
a. It applies only to people from primitive, tribal societies.

b. It doesn't take concepts like altruism into account.

c. It applies only to women and not to men.

d. It doesn't take the equity of relationships into account.

e The correct answer is b. It doesn't take concepts like altruism into account.

Question 3: Which of the following is true of cognitive psychology?

a. It insists that psychologists should study only behaviors that can be directly observed.

b. It believes that people's thoughts are insignificant because their actions are predetermined.
c. It believes that it is very important to study people's thought processes.

d. It insists that people's perception and evaluation of events is unimportant.
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e The correct answer is c. It believes that it is very important to study people's thought

Processces.

Question 4: The  theory was proposed by psychologist Sandra Bem to explain gender-role
development and the impact of gender on people's daily lives and thinking:
a. Oedipal
b. equilibrium
c. schema
d. geopolitical
e The correct answer is ¢. The schema theory was proposed by psychologist Sandra Bem to
explain gender-role development and the impact of gender on people's daily lives and

thinking.



